TEHE B (RK0

BRIEHE
1 FEIX. COBEDBRE-RBOWEEEALEATLNETH
2 FHEIT BEBRBACERE-BEET. COBETEA-MNE- -2 EFHTS
HWEE 52 TONETH
3 COBEIZI TEAPEREORLEZERELTOETH
4 COREICEREYDFECEEZEZL > TRYHEATHNET M
BfE4 HTIEES B4 HTIEFEZ+POHETIEFES
—15 6341 4 256 9575 4
276 il 276 S
Bl (B2 |BR3 BHH1 |Ef2 (B3
LTIFkES 167 | 173 | 161 LTIEED 223 | 237 | 204
PPYETIEESD 8 2 12 POYUTEES 30 19 46
HFEYHTIEES AL 0 0 2 HEYLBTIFESAL 3 0 6
ETREELAL 0 0 0 ETRELAL 0 0 0
100% — 100% s
80% |— — 80% +—
60% |— - 60% +— -
40% |— - 40% +— —
20% |— — 20% +— -
0% 0% . . .
B B2 B3 =i =ip) B3
B4 POHTEFEDS B4 T
81 , 276 .
—g— 2935 % 56— 100 %
BRI |&EM2 [ER3 Bl [BER2 |BR3
HTIRES 56 64 43 LTIFES 230 | 247 | 208
POETEES 22 17 34 POETEES 39 24 53
HEYLTIEES AL 3 0 4 HEYLTIEESLHLY 5 3 12
EREEEAN 0 0 0 EREETAR 2 2 3
100% - pmy e 100% 1 p— m— s
80% ||l S RIS 80% —| S .
60% — 60% -
40% +— — 40% +— —
20% +— — 20% +— —
0% . . . 0% . .
B B2 B3 B B2 =i5E]

BRIERS AUSAUREGAT.HE. RFMFVa—%F) FRILELD

%
RKWNZZRIT-T- 23.2
HOEERISI- 17.0
EBLELE R 7.6
HEYEILF-Hh o1 1.1
B f-tahot= 0.7
EeSniE Motz 50.4




TERE B (A8

BRIEHE
1 FEIT. COBEDBE -RLWEEBALEATWET M
2 FHEIT BEBRBACERE-BEET. COBETEA-MNE- -2 EFHTS
HWEE 52 TONETH
3 COBEIZI TEAPEREORLEZERELTOETH
4 COREICEREYDFECEEZEZL > TRYHEATHNET M
BfE4 HTIEES B4 HTIEFEZ+POHETIEFES
200 , 264 .
—Sg— 7246 % o 95.65 %
Bl (B2 |BR3 BRIl B2 |ER3
LTIEED 193 | 196 | 198 LTIEED 235 | 238 | 227
PPYETIEESD 7 4 2 POYUTEES 27 26 34
HEYLTIFELHL 0 0 0 HEYLBTIFESAL 2 0 3
LTIEES AL 0 0 0 LTIEES AL 0 0 0
100% — 100%
80% (— — 80% -+— —
60% (— — 60% -+— —
40% |— — 40% +— —
20% (— — 20% +— —
0% 0% T T |
B B2 B3 =i =ip) B3
B4 PRHETEES B4 T
64 . 276 .
—5g— 2319 % S7e— 100 %
BE1 |Ef2 |83 Bl [BER2 |BR3
LTIFED 42 42 29 LTXZES 238 | 245 | 232
OHLTREED 20 22 32 POLTEED 32 27 36
HEYLHTIEESLGL 2 0 3 HFEYLHTIEELLHL 3 1 4
LTRELAWD 0 0 0 LTRELAWN 3 3 4
100% - e 100% 7 p— —
80% ||l S RIS 80% | —
60% | .” — 60% -
40% +— - 40% +— —
20% +— - 20% +— —
0% . . . 0% . .
B B2 B3 B B2 =i5E]

BRIERS AUSAUREGAT.HE. RFMFVa—%F) FRILELD
%

RKWNZZRIT-T- 40.2
HAHEERI-T= 32.6
EBLELE R 7.6
HEYEILF-Hh o1 1.1
B f-tahot= 0.4
EEINEMoT= 18.1




